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1. What is the remainder when 429 is 4. What is
divided by 6?

54410
‘a) 4 543—2-/2_0-4E+JE
(c)
) 3 equal to?
fcg 2
@ 1 fa} 5
(b) 542
2. If {c) 5J5
37 _,, 1 (d) 5
13 x+ -

.'J‘Fi o :
zZ 5. The digit in the units place of the

product 81x82x83x 84 %x--x99 is
where x, y, 2z are natural numbers,

then what is z equal to? {a) O
(b) 4
fa) 1
fc) ©
(b) 2
(d) 8
le) 3
(d) Cannot be determined due to 6. The square root of
insufficient data
. 7e13
O 73) L 10-754(0-75)% + 1
1-0-75
3. For what value of k is {x - 5) a factor
of x3 - 3x% + kx-10? 15
fa) -8 (@) 1
(b) 4 (b} 2
fc) 2 () 3
(d) 1 (dj 4
B-EFUA-O-PDW/S52A 2
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1. 72 4% =t 6 ¥ @ fom s, 4 4 5+10

S 7 37 * 5V5 2420 - /32 + Y50 R
3
(@) 4
b 3 @. &
(c) 2 (b) Sv2
(d 1 fc) 5v5
(d V5
2. AR
%=Q+ 11
x+—7 5. TUMHE 81x82x83x 84 x.-x99 ®
¥+ T ¥ T 3 BT 0 87
@ﬁﬁ'x, y,z?m@ﬁwiﬁ,ﬁzm (@ O
R 7
@ 1 (b} 4
(b) 2 (¢ 6
) 3 {d) 8
(d) AW 39+ Fnw Fuifa 3@ &
S Gl
3
6. (075 +]0-754(C-75)2 +1] &
1-0.75
3. k& fee M F g %3 - 322 +kx- 10 e = &7
F1 Ush HEVE (x - 5) 27
fa) 1
fa) -8
(b} 4 2
€ 2 € 3
@ 1 [d) 4
B-EFUA-O-PDW/52A 3 [P.T.O.
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7. What is the remainder obtained 10. What is the number of possible pairs

when 1421x 1423 % 1425 is divided of (P, Q) if the number 357P235Q is
by 127 divisible by both 3 and 5?
(a} 1 (@) 7
(b) 2
(b) 6
fc) 3
(@ 4 (e} 5

{d} None of the above
8. Consider the following statements :

1. The equation 1990x -173y =11

has no solution in integers for 11. The difference between the squares
x and y. of two consecutive odd integers is
2. The equation 3x-12y=7 has always divisible by
no solution in integers for
x and y. {a) 3
Which of the above statements ) 7
1s/are correct?
o) 8
faj 1 only )
fb) 2 only (d) 16
fc/ Both 1 and 2
(dj Neither 1 nor 2 12. The expression

R 3 2 22 2
x g —x"pt+dx“pt-4x + 3xq” - 3xpt
9. A studeni was asked to multiply d P P q q P

a number by 25. He instead
multiplied the number by 52 and is divisible by
got the answer 324 more than the
correct answer. The number to be

multiplied was {a} (x-1} only
fa 12 (b} (x -3} only
fbj 15
{c] both (x-1) and (x- 3}
fc) 25
(d) 32 {d)} neither (x -1} nor {x - 3)
B-EFUA-O-PDW/52A 4
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7. 1421x1423x 1425 & 12 & fawkm 10, I w& 357P25Q, 3 ¥R 5 At B/

T T TG a1 27 farsg 8, @ (P, O} % @ Fm
g @41 27
(a) 1
(b) 2 fa) 7
3 P 6
@4 {c) 5
8. frefafiad et w fem Hifv - (d) 37 F ¥ i T
1. HEEO 1990x - 173y =11 &l
x 3R y & e it &+ & T
2l 11. @ e fawm quiet & @i &1 =R g
2, @fiEw 3x-12y=7 # x 3 y fret farre @7
% for quifet 7 #1% o1 T8 21 |
@@ 3
I woEt @ FR-T/A Th /R '
() 7
fa) Faa 1
(b) Fa 2 ) 8
{c) 13T 2 TH d) 16

d) a@1sad2
12, =%

9. UF @ ® [HHl T A 25 | 0 WA x3g% — x3pt+4x2 pt—ax2q? + 3xq? - 3xpt
& fory @er man| 36 I\ HE & 25 F

™H T 52 § on A fem A Ihe farad vy 27

I, wE IW F 324 = 91| o wen

! 7o R S o ug = A7 (@) A (x-1)

fa) 12 (b) HdE (x - 3

{b) 15

(e (x—1) 3 (x - 3) T

fc) 25

(d) 32 (d) AWM {x-1)MAL (x-3)
B-EFUA-O-PDW/52A 5 [P.T.O.
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13. The difference between compound

interest and simple interest at the
same rate of interest R percent per
annum on an amount of ¥ 15,000

16. There is 60% increase in an amount

in 6 years at simple interest. What
will be the compound interest on
§ 12,000 after 3 years at the same

for 2 years is ¥ 96. What is the rate cf interest?

value of R?

fa) ¥ 2,160
@ b} ¥ 3,120
10 fc) ¥3,972
o 12 (d) ¥ 6,240

(d] Cannot be determined due to

insufficient data . . i
17. 16 litres of a mixturc contains

milk and water in the ratio 5: 3. If
4 htres of milk 15 added to this
mixture, the ratio of milk to water
in the new mixture would be

14. What is the maximum value of m if
the number

N=235x45x3535x60x%x124x75

(aj 2:1
is divisible by 5M?
(b) 7:3
faj 4 fc) 4:3
&) 5 (d 8:3
{c) 6
d 7 18. A person could save 10% of his

income. But 2 years later, when his
income increased by 20%, he could
save the same amount only as
before. By how much percentage
has his expenditure increased?

15. A milkman claims to sell milk at its
cost price only, but he is making a
profit of 20% since he has mixed
some amount of water in the milk.

What is the percentage of milk in (a) 222%
the mixture? 2
(aj 80% (b) 232%
3
(b) 220 %
(¢} 942w,
lc) 75% K
(dj 2—20% (d) 25%%
B-EFUA-O-PDW/52A 6
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13. £15,000 6t thh w 2 w6 & Forw

THEGNE I qU WURY A B, T @

16. et ofyt & 6 a6 # \ramrm = W 60%

# gfa @ 31 712,000 A ufer w,

& g R Wiy qifie W, 96 @ 3 76t % forg Ieh = = o =Raf = ma
W ¥ RFH Y 7 g
(@) 8 (@) ¥ 2,160
(b) 10 (b} ¥ 3,120
fc) 12 (c) ¥ 3,972
(d) Foate 3T & wrw Puffa T (d) ¥ 6,240
ST Hebell
17. 16 eficx & U fasm 3 gy 3w ol 5: 3
14, AT wem & g 1 g1 ofe 3w fasm v 4 i gy
N=35x45x 55x 60x 124 x 75 S fort e e, A A e % g9 A
It B YgUTA T EY
5™ @ favrew 2, @ m w1 ftergw 9w
T 37 fa) 2:1
@ 4 (b) 7:3
®) s ) 4:3
o 6 _ (d) 8:3
(d) 7

18, U% =4fth 3T 3™ F 10% I F99
T g 2 94 95, S I9h I 20%
g R, 7a W a8 uge foeAt & o i
g9d L dehl| IHehl gy o= Vidawa 5@

15. U qu fakar 98 <@ wa & f% 58 qu
had orTa Hmd W 4 @ R, fhed W
20% TV @ T &, Tk 374 W T TO

T 27
o1 # el framn 21 s fiew | gy
Tre wfeare 87 (@) 92%%
fa) 80%
250 () 23—;%
b %
(b) 3
) 242%%
fc}] 75% 9
a) 290 (d 252%
3 9
B-EFUA-O-PDW/52A 7 [P.T.O.
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19, In how much time would the simple

interest on a principal amount bc
0-125 times the principal amount
at 10% per annum?

1
a)] 1- years
@ 1,
3
b) 1= vyears
{b) e
{c) 2—1 rears
3 Y

@) 23 years

20. A man rows downstream 32 km and

14 km upstream, and he takes
6 hours to cover each distance.
What is the speed of the current?

{a) 0-5km/hr
) 1 km/hr
fc) 1-5km/hr

{d) 2 km/hr

21. A car travels the first one-third of

a certain distance with a speed
of 10 km/hr, the next one-third
distance with a spced of 20 km/hr
and the last one-third distance with
a speed of 60 km/hr. The average
speed of the car for the whole
journey is

(a) 18 km/jhr
(b) 24 km/hr
fc} 30 km/hr

fd) 36 km/hr

B-EFUA-O-PDW/52A

8

22, Two persons

A and D start
simultancously from two piaces
¢ km apart, and walk in the same
direction. If A travels at the rate
of pkm/hr and B travels at the rate
of g km/hr, then A has travelled
before he overtakes B a distance of

(e € km
p+q
B - km
p-g
) —=— km
P-4
(d) -P5 km
pP+q

23. For which wvalue of k does the

pair of equations x? - yg =0 and
(J‘:—I«:)2 + y2 =1 yield a unique

positive solution of x?
(@) 2

() 0

(c) 2

(d) -2

24. A person goes to a4 market between

4 p.m. and S p.m. When he comes
back, he finds that the hour hand
and minute hand have interchanged
their positicns. For how much time
(approximately) was he out of his
house?

fal 35-23 minutes
(b) 55-30 minutes
{c} 55-34 minutes
{d} 55-38 minutes

https://www.pyqgonline.com



19, &l g w 10% whed & @ @
HYRY AN fhad @0g o g @
0-125 A1 & ST’

20. T *IfF 32 km HW # fem 4 qun
14 km 9 6 fagtia fem & 7@ @
it R s gl B T FE H 6
e 8 ur o vd | 80

(aj O-5 km/59]
(b) 1 km /v
fc) 1-5 km /3%

(d) 2 km/9vl

21. % &1 e g 6 veel us-foed g
10 km/90a1 Y = T, et &-faers
gl 20 km/ova H A | 91 AR
- o 60 kn/9ve & 96 € @
Fwt &1 off aen & wn A sfiwa 9w
&0 27

{a) 18 km/9uel
(b} 24 km/avel
{c} 30 km/9vel

(d) 36 km/Tvel

B-EFUA-O-PDW/52A

9

22, ckm B PR wH 8 A M B
@ wafe o & fom A @ o A =o
& Hd 81 R A, p km/avel H =1
| 9§ a1 B, g km /9w i 96 §
deial 8, @ B & am feen 8 ved A
et 20 o = 7

la) 4c km
b+gq

b)) 2 km
P—-9

le} 9 km
P-4

d) 25 km
p+4qg

23. k & fr mwm % fau  wdiEw
xz—y2=03fl'([x—k]2+y2=]$[
W, x F TH ARdd GATHE Fel a7
faj 2
(b) 0
fe) ~2
(dj -2

24, TF oAfth WE 4 3N 5 79 & 9 M
ST 2| 9 9§ 198 3T §, o i & R
o2 § fime ) g 3 W W e

aed for &) forem Ty (srgma:) & fam
@ I W | S o1

(@) 55-25fwz
(b) 55-30 R
(c) 5534 e
(d) 55-38 firz

[P.T.O.
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25. The efficiency of P is twice that of Q,

whereas the efficiency of P and ¢
together is three times that of R. If
P, Q and R work together on a job,
in what ratio should they share
their earnings?

fa) 2:1:1
(b) 4:2.1
fc] 4:3:2

(d 4:2:3

26. In a flight of 600 kin, an aircraft was

slowed down due to bad weather.
Its average speed for the trip was
reduced by 200 km/hr and the time
of flight increased by 30 minutes.
The duration of the flight is

fa) 1 hour
{b} 2 hours
{c) 3 hours

(d} 4 hours

27. With a uniform speed, a car covers

a distance in 8 hours. Had the
speed been increased by 4 km/hr,
the same distance could have been
covered in 7 hours and 30 minutes.
What is the distance covered?

(a) 420 km
(b) 480 km
{c) 520 km

(d) 640 km

B-EFUA-O-PDW/52A

10

28.

29,

30.

A runs ]g times as fast as B. I[ A
gives B% start of 80 m, how far
must the winning post from the
starting point be so that A and B

might reach it at the same time?

(o) 200 m
(bj 300 m
{c/ 270 m
{d) 160 m

A thief is noticed by a policeman
from a distance of 200 m. The thief
starts running and the policeman
chases him. The thief and
the policeman run at the speed
of 10 km/hr and 11 km/hr respec-
tively. What is the distance between
them after 6 minutes?

{a) 100 m
(b) 120 m
{c/ 150 m
(d} 160 m

When 2 ball bounces, it rises to g

of the height from which it fell. If
the ball is dropped from a height of
36 m, how high will it rise af the

third bounce?

—
o

=

(a)

—
o

=

(b)

1o
=

(c)

(=
()
Wi W= Wik al—

3

(d)
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25. P, Q I 30en M THA W FH a1 &

TafE p o Q fies R &t erden &=
T 28 | wW w31 AR et v A&
P, O 3R R froew &1, & 39ht g 3w
form argama o St

fa) 2:1:1
(b) 4:2:1
fc} 4:3:2

(dj 4:2:3

26. 600km N & A T w fanm ww

e & F ot @ ST 31w % R
fom f sf|a =@ 200 km/gver &%
2 wid! & 3R 3g@ w1 @ 30 e Wg
STAT ¥ | 35 N $od A&y ¥ 27

fa) 1 =02
(b) 290
fc) 3 90

(d) 4w

27. U & foret gt Y ThEEM T |} 8 U

4 qa wdlt g1 afe w1 # 4 km/ETR
Tor fomr wm@n, @ @ g 7 e el
30 fire § qa A o wwd) o T
gl feerft 37

(a) 420 km
() 480 km
fc) 520 km

(d) 640 km

B-EFUA-O-PDW/52A

28. A, BH 1%@%&&@%?&5

1 A fog A & omfam fag @
80m IM , A A% smfRw fag @
wiey wm  gft el e wifew, anfes
A ¥R B T ¥ @ q81 4g=?

faj 200 m

fbj 300 m

fc) 270 m

(d) 160 m

29. 7% faurd vE Wk & 200m F @ A

2Edl 31 9 qPHT 6 Hal & i faurd
IgH i a7 g1 =R R R wow:
10 km /9021 3T 11 km/=0T & 7f7 @
vt 31 6 T & 9] s d A gh
Eoinifuin
fa) 100-m
b} 120 m
fc) 150 m
d) 160 m

30, Fr T I o A, foadt 3= § fiwd

%Wﬁ%“ﬁﬁﬁmaﬁﬁ%wﬁsﬂ

¥ # 36m A Far A o s, @
oA fred se1a o gg fradl 3w 3dh?

la) 10% m

(bj 102 m

m

=

(c) 12

2
d) 12— m

[P.T.O.
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31. A light was seen regularly at

an interval of 13 seconds. [t was
seen for the first time at 1 hour
54 minutes 50 seconds {a.m.] and
the last time at 3 hours 17 minutes
49 seconds {a.m.). How many times
was the light seen?

() 375
(b) 378
(c) 383

(d) 384

32. An automobile financer claims ro be

lending money at simple interest,
but he includes the interest every
six months for calculating the
principal. 1f he is charging an
interest at the rate of 10%, the
effective rate of interest becomes

(@) 10.25%
{(6) 10-5%
) 10-75%

dj 11%

33. What are the possible solutions for x

of the equation x¥* = ’\’a'rx_"‘, where

x and n are positive integers?
fa) O, n
b} 1, n

(€ n, n?

H

{d) 1, n?

B-EFUA-O-PDW/52A

12

34. let A and B be finite non-empty

sets with the number of elements
in A = m and number of elements in
B=n. Let m > n. If for some integer
k 21, the number of non-cmpty
subsets of A=2% + the number of
non-empty subsets of B, then which
one of the following is correct?

(@ m=n+2

(b m=n+1

(¢ m=n+p for some odd prime
number p

{dl m=n+t for some composite
number ¢t

If n is a natural number and

X Xr X
n=p"p;*p3", where p), py, p3
are distinct prime factors, then the
number of prime factors for nis

(@ x;+xa+x3
(bl x xpx;
(¢} (x+1){xy +1j{x5+1)

(d] None of the above

36. Consider the following statements

for the sequence of numbers given
below :

11, 111, 1111, 11111,

1. Each number can be expressed
in the form (4m + 3), where m is
a natural number.

2. Some numbers are squares.

Which of the above statements
is/are correct?

fa} 1 only

(b) 2 only

{c/ Both 1 and 2
{d} Neither 1 nor 2

https://www.pygonline.com



31. #E vFEW e sv @ 13 ¥%E &

A 3 S § | Tl A I e
1 F9 54 fime 50 e iR el
T W@ 3 F9 17 Fe 49 ¥ W
1 1| 39 Y @ F fhaet ar 3
Y

faj 375
{b) 378
(C)i 383

(d) 384

32, T% O@En fowuns & g g oag

YO ST T ¥ IUR T 2, W |
9% A/ 9 e ) e & fore sed
saTe Afferd o oar 21 A 98 10% @
TS T W@ E, QS A TE =
7 gl S g7

(@) 10-25%
(b) 10-5%
(c) 10-75%

d 11%

33, wiftmor V< = Yx* F wE x 3R n

YHEHF qUIiE 8, x & Tl TR g
-8 §?

fal O, n

b) 1, n

) n, n?

d) 1, n?

B-EFUA-O-PDW/52A
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35, Ik n

34. AR wve f& 4 st B wifim, w1

W%WAﬁﬂr_cﬁﬁﬁ@f:mEﬁI

BT = & A =n 2 R T

m:-n%lﬁﬁm‘{?ﬁa%k::la;m,

A % ¥fcw Ivag=dl A w@ =25 + B

F s Twg=a f odem, @

faffgs © @ =9-w w8 7

fa] m=n+2

(b) m=n+1l

(e} m:n+p,%€ﬁﬁ'ﬂ'ﬂlmﬂ‘~r‘ﬂﬁ@ﬂ
p & fag

{[d m=n+t, 5 a0 d@n + 5 fe

LCTCE B T L
n=plp2pyt, T p|, py, ps T
AT TPHEE §, A n & IWE
TGS G 27

faj x,+xq9+Xx4

(b} x,Xnpx3

e} (x;+1){x, +1){x3 +]1)

(d) 394§ & R

36. d&=a 11, 111, 1111, 11111, ... %

e & fou Frafafa s o fo=m

iy

1. YOE G (dm+3) F ¥ H I
ﬂmm%,ﬁﬁm%ﬂq‘ﬁlﬁﬁ
H

2. %o el 9 g

T FYA A § BH-A1/8 T R/
(a) &9 1

(b) FaA 2

(c/) 13K 23

(d FM1AMAH 2

[P.T.O.
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37. The HCF and LCM of two 39, Consider the following statements :
polynomials are (x + y) and
1. There exists only one prime

(3x°+ 5x%y+ 2x3y? - 3x?y3- Sxya’ —2y5 ) number psuch that (17p+1)is
a square.
respectively. If one of the
polynomials is (x? - y2 }, then the 2. If x is the product of 10
other polynomial is ' consecutive prime numbers

starting from 2, then {(x+1) is

(@ 3x? —8x3y+ 10x2y2 also a prime number.

+7xy3 —2y4
Which of the above statements
() 3x* - 8x3y-10x?y” is/are correct?
+7xy3 +2y*
(e} 3x* +8x3y+10x%y? fa) 1 only
+7xy3 +2y4

(b} 2 only
(d) 3x* +8x3y-10x?y?

+7xy3 +2y*
i J fc Both 1 and 2

38. Let p be a prime number other than
2 or 5. One would like to express
the vulgar fraction 1/p in the form
of a recurring decimal. Then the
decimal will be

{d} Neither 1 nor 2

40, The sign of the quadratic polynomial
(@) a pure recurring decimal ax? + bx + ¢ is always positive if
and its period will be
necessarily {p - 1}

; . {aj ais positive and b2 -4ac <0
(b} a mixed recurring decimal

and its period will be
necessarily (p - 1) (b} a is positive and b? —4ac>0

fc/ a pure recurring decimal
and its period will be some ¢/ a can be any real number
factor of (p- 1) and b? -4ac< 0

(d] a mixed recurring decimal

and its period will be some (d} a can be any real number
factor of (p-1) and b* -4ac20
B-EFUA-O-PDW/52A 14
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37. & goEl % WEAH WAGARH QU1 TR 39. frafefigd wor w fEm AR

T (x + y) M |, %ad & @ IMRE §E p F
[3x5+5x4y+2x3y2-3x2y3—5xy4—2y5! Eﬁlﬁaﬁ%?&lmﬂi{l?p+l)ﬁ
culd
: 2,208 3
HaR ol A v g -y B T 2. A x 2 B TE TR Tl 10 HHAPE
T TG A A sl & Ene 3,

i (x + 1) N TF TSI FEN 2
(a) 3x*-8x3y+10x2y°

”. 3 4
*Tay” -2y i Ft ¥ F-m/d w3
) 3x* -8x3y-10x2y*
+7xy° +2y° fa) %4 1
fc) 3x* +8x3y+ lezy?’ (b) Fad 2
+?xy3 +2yrq
(c) 1323

(d) 3x*+8x3y-10x2y?

+7xy3+294
(d) Fd@13mI42

38, TH W fF p, 2 M 5 F @@l H§
A9 wEn 3| AR o fm 1/p R
e TYed & w9 § e TR W, @ 40. Radt agwm ax? +bx+c W R FE
qg TYHed T Zm? YT €, At

(@ TF Te Aad cuHed i Iaw o3 b n? —dac<

TEdF IEvEE ® A (p- 1) @ (@) adRIeH® § b7 ~4ac< 0

(b) TE i sEd e AR I (b) o vATHE B 3 b2 -4ac20
aad® AETE T @ (p - 1) WM

¢/ TF Ye NEd quHea 3R I ) o W s den 8 w2

2 _
IEF (p - 1) F F @S € M b? -4ac<0
(@ w foy wad A iR IEE (d) a ®% o aafaE e @ wEdl @
EdE (p - 1) 1 FHE PAEE F M b? -4acz 0
B~-EFUA-O-PDW/52A 15 [P.T.O.
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41. If A, G and H are the anthmetic, 43. There are five partics A, B, C, Dand £

geometric and harmonic means 1n an election. Out of total 100000
between a and b respectively, then votes cast, 36000 were cast to
which one of the following relations party A, 24000 to party B, 18000 to
is correct? party C, 7000 to parly D and rest

to party E. What angle will be

allocated for party E in the pic
{fa} G is the geometric mean chart?

between A and H

fa) 15°

(b} A is the arithmetic mean (b} 54
between G and H fc) 60°

@ 72

(c/ H is the harmonic mean
between A and G 44. Out of 532 savings accounts neld

in a post office, 218 accounts

have deposits over ¥ 10,000 each.
(d) None of the above Further, in 302 accounts, the first
or sole depositors are men, of
which the deposits exceed ¥ 10,000
in 102 accounts. In how many
accounts the first or sole depositors
are women and the deposits are
up to ¥ 10,000 only?

42. The geometric mean of three
positive numbers a, b, ¢ is 3 and
the geometric mean of another
three positive numbers d, e, f is 4. (o) 116
Also, at least three elements in the
set {a, b, ¢, d, e, f} are distinct.
Which one of the following fc) 100
inequalities  gives the  best
information about M, the arithmetic

(b) 114

(d) Cannot be determined from the

mean of the six numbers? given data
45, If
o) M>243 Xt+ty+z=0
then  x*+yd+2% 430z s
®) M>3:5 equal to
fa)j 0O
fc) M23-5
(b) 6xyz
12x
(d} It is not possible to set any fc] yz
precise lower limit for M (d) xyz

B-EFUA-O-PDW/52A 16
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41. 3¢ q 3 b ¥ 9 A, G AW H FE:

YU Me, oL W1 R g A1
2, o Fefofee gt B 8 FR-T &

43. wF fafA d A, B, C, D 3 E 99 T

§1 oA T F& 100000 7dl H B @ A
F 36000, & B & 24000, T4 C F

it 27 18000, 3 D F 7000 3R AT 74 <
E % firdl| goitw # 7@ £ & o #m-w
FI0] e

(@) A¥RHFEF= Gt e 2 P e
fa) 15°

(b) G HF AT A T W R (b) 54°
fe)] o60°

0 AR GHdIR Ha0Es IE ¢ [d 7

(d) IE T | FE Adl 44, TF THHE ¥ W@ T 532 FEA G @l
§ & 218 @ d ydle # € 10,000 8
wfirs s g e &1 o fem o R T
302 s@Rll # vew W CHAE SHEA
e 3, Rad 4 102 wwwei f s
ofal ®10,000 ® wftm ¥ R
qarst § gum T wAE JEedl nfge @

ayT 1 TR FEd € 10,000 9% &7

42, @ ATHE €@l @, b, ¢ @ W
ey 3 % 3 H dA gAens gEnsd
d e, f & TORA WA 4 § T
a, b, c, d, e fi 8 FA-B-F (@ 116
firgy g 2| Prefafa swfimmet 4 3

FA-H & @ W v gEEedl & b 114

el ey M & fava 0 wafed gEA (c/ 100
27 (@) Ru mu am g fulfe A e @
L2E |
@) M >2J3
45, If x+y+z=0 z, G
f(b) M>23-5 x3+y3 +z3+3xyzfm"{=l%m%?
{a) O
) M=3-5 b) 6 xy2
) {c] 12xyz
d) M A w8 Hx-de Fm @ Faa
] EE T 8 (d) xyz
B-EFUA-O-PDW/52A 17 |P.T.O.
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46. If three metallic spheres of radii 6 cm,

8 ¢m and 10 cm are melted to form
a single sphere, then the diameter
of the new sphere will be

50. A cylindrical vessel of radius 4 cm

contains water. A solid sphere of
radius 3 cm is lowered into the
water until it is  completely

immersed. The water level in the

fa] 12 em vessel will rise by
fb) 24 cm @ 1.5cm
{c¢/ 30 cm (b) 2 cm
() 36 cm fe} 2-25 cm
47. If each interior angle of a regular (d) 4-5cm

polygon is 135° then the number of
diagonals of the polygon is equal to 51. If the height of a right circular conc

is increased by 200% and the

4
fa) 3 radius of the base is reduced by
(b} 48 50%, then the volume of the cone
e/ 20 {a) remains unaltered
(d} 18 (b} decreases by 25%

. _ {c) increases by 25%
48. The sides of a triangular field are

41 m, 40 m and 9 m. The number of fd} increases by 50%
rose beds that can be prepared in
the field if each rose bed, on an
average, needs 900 square ecm

52. The angles of a triangle are in the
ratio 4 : 1 : 1. Then the ratio of the

space, is largest side to the perimeter is
(a) 2000 fa) % (h) 2:\{%
{bj 1800

3 2
c/ 900 fo d d —_
(c) D T YT
(d) 800

53. Let @, b, ¢ be the sides of a right
tnangle, where ¢ is the hypotenuse.
The radius of the circle which
touches the sides of the triangle is

49. The ratio of the outer and inner
perimeters of a circular path is
23 : 22 If the path is 5 m wide, the
diameter of the inner circle is

- 2
‘@ 55 m fa) (a+b-c)/
() 220 m fc) la+2b+2c)/2
(d) 230 m (dj (2a+Z2b-c)/2
B-EFUA-O-PDW/52A 18
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46. %2 6 cm. 8 cm N 10 cm Bl T 50, 4 cm P9 9 OF SRR 9dd 0 urf)

= ufcss el ) Poam @ e % 3 cm B9 90 wF 3 el TH §
ST Y, A A S S T4 R T IR e T o 9E [ A
a) 19 om 7 S| a4 ® qFEl &1 wR A a9
S ?
fb] 24 cm
fa) 1-5cm
[c) 30 cm
{b) 2 cm
(d) 36 cm
fc) 2-25cm
47. TR Tl @ Ry W TS S (4 45 em
o ¥, ar ¥ fagul &) @ . .
;375%? g e 51, Ife TF w=gRE T F IAE 200% e
' & ST e 3R MuR F B 50% FH
(w) 5% & € T, @ IW OF F A
(b) 48 faj fafda wa &
(c) 20 (b} 25% M B I 2
(d) 18 fe) 25% W@ Sl &

fd) 50% &g T &
48. % fenia @a f 9 41m, 40m @

3 om % W Ea & e fi fRa

52. & B % @ 4:1:1 % FgW H E
Ffal fER ft s o g, AR S S A T T g e

T $ TR B 3 900 T cm H 3
S ) AR 21 AT T 8
fa) = ) —
(@) 2000 3 75
(b) 1800 7 )
{c) 900 f 2++/3 () 1+43
(d) 800
53. 7 ofifin & & wwm Gys i e
49. 7% g gy F SEQ QU AR T a, b, c & W& c F B I F9 H
F WA 23:22 31 AR ™ 5m e Waﬁﬁ‘ﬁﬁ‘ﬁaﬁﬁWﬁﬁ
2, @ arafts 99 =1 =AW #7087 2, ¥ &7
(@} 55 m (a) (a+b-c}/2
() 110 m (b} (atb+c)/2
(¢} 220 m (c) {a+2b+2c)/2
(d) 230 m fd) (2a+2b-¢)/2
B-EFUA-O-PDW/52A 19 [P.T.O.

https://www.pygonline.com



54. The arca of the largest triangle that
can be inscribed in a semicircle of
radius r is

(aj r?
(b) 2r?
(c) 3r?

(d) 4r?

55, AD is the diameter of a circle and
AB is a chord. If AD= 34 cm,
AB =30 cm, the distance of AB
from the centre of the circle is

faj 17 cm
fb) 15 cm
fc; 13 em
(dj 8 cm

§6. If a star figure is formed by
elongating the sides of a regular
pentagon, then the measure of each
angle at the angular points of the
star figure is

(a) 36°
(b) 35°
(cj 32
(d) 30°

57. Four equal-sized maximum circular
plates are cut off from a square
paper sheet of area 784 square cm.
The circumference of each plate is

fa) 11 cm
{bj 22 cm
{e¢/ 33 cm
{dl 44 cm

B-EFUA-O-PDW/52A

58. If tan(A+ B)=+/3 and tanA = |, then
tan{A - B) is equal to

fa) O

(b} 1

(d) 2

59. If the radius of a sphere is increased
by 10%, then the volume will be
increased by

{aj 33-1%
(bj 30%
) 50%
{dj 10%
60. ABCD is a parallelogram, where
AB : AD=2: 1 One of the angles of

the parallelogram is 60°. The two
diagonals are in the ratio

) 7:3
b} J7:J3
) 7:5

{d} None of the above
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54. r w1 It o andgaE & WG @i S 58. 3R tan{A+ B)=v3 3 tanA = 1%, dl

o I e e 1 SAwe w41 87 tan(A - B) fae w37
fa) r* @ 0
b) 2r°
{c) 3r? (b) 1
[d 4r?
]
(c] ﬁ

55, Tt 97 =1 =W AD § 30 391 T Sfan
AB %\ 9% AD = 34 cm, AB= 30cm,

& 99 % ¥ A ABH T B 77 (d) 2

fa) 17 cm

(b} 15 cm

fcj 13 cm 59. I & et & Bew 10% e € s, |

(d) 8 cm e AAaq fRaT wg STe?
56. Al TH T8 TIYY FH YA B dgE (a) 33-1%

us R wEly & srht R}, @ A A b 30%

R % Fofa faget w yds @ £

o9 w1 87 e} 50%

@ 3¢ d} 10%

(b} 35°

c) 32

(d) 30° 60. ABCD Us uurai wgiw @, W8

AB: AD =2: 18| - Igy« &1 Gh

57. 784 T cm SAGS A T SRR FS F1 60° 3| wAFAR TS F I faol

¥ 03 § | gue eR # 9R 99 § 5 form orgama A &7

gita o Fe W P s ¥ owEE

Wiz & aftfe Fur 27 fa) 7:3

fa) 11 cm (b} J7:J3

(b) 22 em

() 7:5

fcj 33 em

(d) 44 cm (d) I9GH H A F T
B-EFUA-O-PDW/52A 21 [P.T.O.
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61. Consider the following statements :

1. Let D be a point on the side
BC of a triangle ABC 1If area of
triangle ABD = area of triangle
ACD, then for all points O on
AD, area of triangle ABO = area
of triangle ACO.

2. If Gis the point of concurrence
of the medians of a triangle
ABC, then area of triangle
ABG=area of triangle BCG
= area of triangle ACG.

Which of the above statements
is/are correct?

{a) 1 only
(b) 2 only
(c/ Both 1 and 2

(d) Neither 1 nor 2

62. If cosA=tanB, cosB=tanC and

cosC = tan A, thensin A is equal to

(a) "-34;1
(b) 432-1
() J§4—1
(d) %

B-EFUA-O-PDW/52A

63. If

a2

3~ tan QA' - K
1-3tan“ A

where K is a real number, then

cosec A(3sin A -4sin® A)is equal to

——— where K< —-or K>3
€ % 3

(d)

xs
+

64. The angles of elevation of the top of a

tower from two points P and { at
distances m? and n? respectively,
from the base and in the same
straight  line  with it  are
complementary. The height of the

tower is

fa) (mn}t/?

(b) mnt/?

() mil?

(d) mn

https://www.pyqonline.com



. 2
61. Fefafa st w o fif - ﬁg_qﬁ-s_“.M=K,aﬁK@ﬁarﬁlﬁ$

1. " oifsg f& s Bys ABC &t .I-Star_zA
Y& BC W D T fag ¥ it B HE 2, @ cosecA(3sinA-4sin® A)
ABD ® §9%a = fige ACD @ forme s 37

gaee, @ AD W At fagatt 0 &
ferm, et ABO #1 89%a = By

ACO &1 &7% | (a) %
2. 3R & Ayw ABC H mfewet &

v firg 6 3, & fnm ABG .

F1 4I%A = S BCG F &% p) T sKs3

= NS ACG F1 ga%d |
IR FA A § BR-AR w6 R/ . %,Gfﬁf(-:émh’):%
(a) Fad 1

2K

() Fad 2 (d) s ‘
(c) 13 23T

(@ Ad@13dmadé2

64. P 3 Q A forg & MR & smum R

62. 32 cosA=tanB, cosB=tanC 3t FA9: m? 3R n? HGE WA T
cosC = tan A, 9 sin A foFe sy §7 Ya o f8r 1 AR & 1 &, palt ¢
¥, I BN O[E 2 HER A I
(a) E eI e
4
1/2
b o1 fa) (mn)
2 .
(b) mn!/?
J3-1
(c) e
cj mZn
v3-1
(@) 2 [d) mn

B-EFUA-O-PDW/S2A 23 [P.T. Q.
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65. The angle of elevation of a cloud from 68. Consider the following :
a point 200 m above a lake is 3(°
and the angle of depression of its

cos A N sin A
reflection in the lake is 60°. The l-tanA l-cotA

height of the cloud is =sinA+cos A
() 200 m 2. (1-sinA-cosA)?
fb) 300 m =2{1-sinA)(1+cosA)
(c/ 400 m Which of the above is/are
identity/identitics?
(d) 600 m
(@) 1 only
66. If (b} 2 only

tanA+cotA =4 ¢/ Both | and 2

then tan® A+cot* A 1s equal to (d) Neither 1 nor 2
{a} 110
69. ABC is a triangle right angled ar
(b} 191 B and AB:BC=3:4. What is
) . . 5
() 80 sin A +sin B+sin C equal to:
(d) 194 (@) 2
11
67. If b5
_ {1-sinx 1-sinx cos X o L2
B =y ; ’ = : P = : 5
Vi+sinx COS X 1+sinx
then which of the following is/are [df 3
correct?
1. p=g=r 70. The value of
2. pz =qr

cosec? 67° + sec? 57° —cot? 33° - tan? 23°
Select the correct answer using the

code given below. 18

(a) 1 only (o) 242

b) 2 only ) 2

fej Both 1 and 2 (c) 2

{d) Neither 1 nor 2 fd) 0
B-EFUA-C-PDW/52A 24
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65. T& #W % 200 m FN fom w fag @ 68. faforfas W faem Hifsw -

et sEd =71 I3 |0 30° 8 3N 3IFF . cosA_ _sinA
#ia # ufafara &1 s | 600 B " 1-tanA 1-cotA
IR 6 TS 71 27 = gin A +cos A
2. (l-sinA-cosA)?
(a) 200 m
=2(1-8inA)(l1+cusA)
b} 300
r " 394 | © DH-91/8 TS 2/87
(c) 400
‘ " (@) Fad 1
d) 600
“ " (b} FaH 2
66. 7R tanA+cotA=4, @ (o) 12T
tan* A+ cot® A forud s 27 [dj Fd 13Ad2
@) 110
69. ABC & BF &, | B W wmEm
(e) 191 s 2 SR AB:BC=3:4 %I
{c} 80 sin A +sin B +sin C e sast 37
[d} 194 (a) 2
11
(b -
67. =2 / S
_ |1-sinx _l-sinx __ cosx 12
P Trsine " Tcosx ' 1+sinx {c) 5
9 Frafefaa 4 @ S¥9-m1/9 g8t 3/87 3
1. p=g=r
70. cosec?b7°+ sec? 57°—cot? 33°
= fou M g2 &1 W & Ed IW ~tan? 23°
|
E &1 91T 11 g7
Fad 1
“ (@) 232
(b) &HIAA 2 b) 2
) 1323 ) ~2
d Fa1siad2 (d) ©
B-EFUA-O-PDW/52A 25 [P.T.O.
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71. Consider the following statements : 74. Consider the following statements :

1. There exists at least one )
i 1. There exists no value of x such
value of x between O and 5

. . ) that
which satisfies the equation
sin® x-2sin? x-1= 0. B .
. : =44+2J3, Q<x<=
2. sinl-5is greater than cosl- 5 1-sinx 2

Which of the above statements

is/are correct?
: sin? x
2, sinx=3 does not held

() 1 only good for any real x.
(b} 2 only
(c/ Both 1 and 2 Which of the above statements
{d) Neither 1 nor 2 is/are correct?
72. From the top of a tower, the angles of {a) 1 only

depression of twa objects P and @
(situated on the ground on the

same side of the tower] separated {b) 2 only
at a distance of 100(3-+3) m are
45° and 60° respectively. The height {c) Both 1 and 2
of the tower is
(@} 200 m (d) Neither 1 nor 2
fb) 250 m
fe} 300 m
(d) None of the above 75. A triangle ABC is inscribed in a
circle. If sum of the squares of
73. 1 sides of the triangle is equal to
sinx+cosx=¢ twice the square of the diameter,
.2 a2 a2 .
then sin® x + cos® x is equal to then = sin®A+sin” B+sin®C s
equal to
1+ 6¢2 - 3¢*
(a} 15
{a} 2
1+ 6¢c? - 3¢*
(o) —————
(b) 3
1+6¢? +3c*
(c) ———— ,
16 {c] 4
(d 1+ 6c% + 3¢t
4 {d} None of the above
B-EFUA-O-PDW/52A 26
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71. Tafsfee sv w fmr $ifm 74. Frfafea s w faEm it

L. oaﬁig%aﬁaxaﬂw%-wqa 1 x % Bl 00w F afle a2
m afee d %, St wiEm B
sin‘*x—?sinthl:()ﬁﬂ—_g’ﬂ 1F =4 +2J3, Ocx<X
=T 2 l-sinx 2

2. sinl 5 cosl-5% 9T 2| 2] sinx:Ssinzx%Fﬂiﬁ‘dTﬁﬁﬁix

ST F 3 ¥ FR-T/ T B/ % forg wmp et Sl
ad 1

@ i T 3 & A A

(b) Faa 2

c) 13AR2TA (@ ¥

(d) T 13MmAd2

. (b) FEH 2
72. fodt fFm il F & O ad W @A @

Tgai Pt @ ¥, Fes s f @ |

100{3-v3)m %, WHR & fmet 3} () 132z

ATTHA HI HAY: 45° I 60° T WK

A F= T 87 (d) AT 1sAH2

fa) 200 m

b) 250 m

(c) 3001“‘\ 75. B ABC TRt gu % erria @ien m

(d) s ® 4w (gergss) 21 4R Fng 1yl & anl

F oA Fw F oA F| A F, @
73. AT sinx+cosx = ¢, A sin® x + cos? x sin® A+sin? B+sin? ¢ FHas 9O

Torees T 27 27
1+6¢? - 3c*

l" —_

@ 16 (a) 2
] + 6¢2 - 3¢c*

b

(b) 4 B 3

fc) 1+602+_§-3c_4

16 (c) 4
o 14 6¢? + 3c?
(@) Z (@) 3w A8 T
B-EFUA-O-PDW/52A 27 [P.T.O.
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76. The area of a rhombus with side 79. The radius of a sphere is equal to the

13 ecm and one diagonal 10 cm radius of the base of a right circular
will be cone, and the volume of the sphere

is double the volume of the cone.
faj 14C square cm The ratio of the height of the cone to

(b) 130 the radius of its base is
square cm

fc) 120 square cm fa) 2:1
(d] 110 square c¢m b) 1:2
feg 2:3

T7. Two circles, each of radius r, with
centres P and Q, are such that each {dy 3:2
circle passes through the centre of
the other circle. Then the area

common to the circles is less than 80. Water flows through a cylindrical
one-third of the sum of the areas of pipe of internal diameter 7 cm at
the two circles by the rate of 5 m/s. The time, in
- minutes, the pipe would take to
(a) J3r fill an empty rectangular tank
4 4mx3mx2 31mis
J3r2 (@) 28
(b) 3
(b} 24
J3r? (c) 20
(c)
2
(d) 12
(d 3r?

81. The total outer surface arca of a right

circular cone of height 24 cm with a
78. A sphere and a cube have same hemisphere of radius 7 cm upon its

surface area. The ratio of square of base is
their volumes is

fa) 327r square cm

fa) 6:mn

(b} S:m {6) 307n square ¢m

fcg 3:5 fc}  293n square cm

fdj 1:1 (d) 273n squarc cm
B-EFUA-N-POW /524 28
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76. T woags =1, el ¥ 13 em ik 79. & Mo il Ho fodt amga 95 ®

™ a0 10 cm 2, F5%A fFaan @m? wvr 1 B & suar @ o e &
| T, TF 5 AT F1 AP 2| TF
(@) 140 F cm o T Suk omaR F B B
b, 130 cm N &7
) 120 3 cm (@) 2:1
[dj 110 T cm (b) 1:2
fcj 2:3
77. A 3 %, Foe o A B 8, 3 @ 3:2

P3N QR RS g 90 & &5 §
ga e Bl @ FE @ swhe
gFGd, 6 gE F dwal & am F 80. 7 cm $i FIF AW areh & TFER

@.ﬁgﬁﬁﬁﬁ:{*{m%? ?Fﬁﬂﬁf*m/sﬁfrﬁﬂaﬁm?l
4amx3mx2-31m dlcil U AFATER
J3r? e 7H H R B 39 Tl F A e
@ = i
b J3r2 faj 28
3 (b) 24
" Jﬁrz_ fc) 20
2 d 12
(@ 3r?

81. UF e WiE &, fgs $91 24 cm
2 i o amm W 7 om B F1 0w
wdriien }, T av@ TE &A% e

78. TF W M Gh T F gEE S w0l 32

2| ITF ! F T FT YW 7487
(a) 3277 3 cm

faj 6:n

B 5T (b} 307197 cm

{¢j 3:5 fcj 293n&l cm

fd) 1:1 ({d 273n T cm
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82. The last digit in the expansion of 85. A rectangular paper of 44 cm long

17256 g and 6 cm wide is rolled to torm a
cylinder of height equal to width of
fa) 9 the paper. The radius of the base of
the cylinder so rolled is
(b) 7
fa) 3-5cm
(c) 3
(b} 5 cm
(d} 1
fc 7 cm
83. A rectangular block of wood having (d) 14 cm
dimensions 3mx2mx1.75m has
to be painted on all its faces The
layer of paint must be 0- 1 mm thick.
Paint comes in cubical baoxes 86. If a-b=4 and a_g.*'b_g =40, where
having their edges equal to 10 cm. aaand 6b are positive integers, then
The minimum number of boxes of o” +b” Is equal to
paint to be purchased is
(a] 264
(al S
(b) 280
b} 4
fe; 300
fc) 3
@ 2 {dj 324

87. The sides of & triangle are 25 cm,
39cm and 56 cm. The perpen-
dicular from the opposite vertex
on the side of 56 cm is

84. The diagonals of three faces of a
cuboid are 13, v281 and 20 linear
units. Then the total surface area of
the cuboid is

{a) 650 square units fa) 10 em
(b) 658 square units (b} 12 cm
(¢} 664 square units fe) 15 em
(d} 672 square units (dj 16 cm

B-EFUA-O-PDW/52A 30
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82. 1725 ¥ yam ¥ wifam 275 Fn &7 85, 0% HOAIEN HIe &Y, fo@ehl ofmag
44 cm 3 99 6 cm B, M (T)

faj 9 TS FOTH 1 HGI9E F TO=E S48 9
AT FATGT ATET B 1 59 YRR SAIE T dTH
(b) 7 & 3y i fHear =1 37
(c) 3 (aj 3.5cm
(dj 1 (b) 5 cm
fc) 7 cm

83. 3mx2mx1-75m f=l ad U
ITAFR AFG & @I & TR I8 Fl T2
FE 2| 92 i Wa 0 1 mum A B
aifgtl 4= 10 em T a9 am @R
fesdt T o 21 92 ¥ FU-4-9 R 86. AR a-b=4 3 a® +b? =40 3,

fd] 14 cm

fesa @i 9t Tfg? a T b g s & @ ad +b°
forad R 27
fa) S
fa) 264
fbj 4
b) 280
fc) 3
(c} 300
@ 2 (d) 324

84. T& w9y F 9 9§t & w0l 13, /281

3R 20 Tt THIRE & T TN H FA
gl e feaT 27

87. T P A ¥ 25cm, 39 cm 3N
56 cm &1 56 cm it Y= T HETE ¥

o e TR 27
(a] 650 & ¥HTs (al 10 cm
(b) 658 T T (B 12 cm
(cj 66431 TR ¢/ 15cm
(d) 672 3 T3 (d) 16 cm
B-EFUA-O-PDW/B2A 31 [P.T.O.
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88. The diagonals of a (rapezium are

at right angles, and the slant sides,
if produced, form an equilateral
triangle with the greater of the two
parallel sides. If the area of the
trapezium is 16 square cm, then
the distance between the parallel
sides is

{al 2 cm

(b}

f¢) 8 cm

4 cm

(d) Cannot be determined due to
insufficient data

89. From a circular piece of cardboard of

radius 3 cm, two sectors of 40° each
have been cut off. The area of the
remaining portion is

fa)
(b}
fc]
fd)

11 square cm
22 square cm
33 square cm

44 square cm

90. Three equal circles each of diameter

d are drawn on a plane in such a
way that each circle touches the
other two circles. A big circle is
drawn in such a manner that it
touches each of the small circles
internally. The area of the big circle
is

{a) nd?
() md?{2-+3)?

ad? {3 +1)?
2

{c}

nd? (V3 +2)2
12

(d)

B-EFUA-O-PDW/52A

91.

92,

93.

32

Il the angle between the radii of
a circle is 130° then the angle
between the tangents at the ends of
the radii is

T0°

(a) 90 (b)

S0°

(c) {d) a0’

Let OA, OB, OC and OD are rays
in the anticlockwise direction
such that ZACB= /ZC0OD=100°,
£LBOC = BF and LAOD = 78°.
Consider the following statements :

1. AOC and BOD are lines.

2. ZBOC and
supplementary.

LZAQCD are

Which of the above statements
is/are correct?

fa}] 1 only
(b} 2 only
fc) Both 1 and 2

{d) Neither 1 nar 2

At 8:30, the hour hand and the
minute hand of a clock form an
angle of https://www.pygonline.com

(a} 8%
75°
70°

60°
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88. UF ¥ & Taul auaon W i afig

s & fode yeneTt &t Jem S, @t
A waFR st § Q@ 9l el g &

91. 7k w gu i Bl F 9 1300 &

= 3, o Bemet & 0 w et-tgst
& e & 0 T 27

Y wF grarg e w1 W 21 AR

BN F %A 16 1 cm §, d (@) 9 () 70
AR qare! & §9 ) g e &7

la) 2 cm c) SO° (d) 40
(b} 4 cm

fc] 8 cm

{d) S 5 ¥ Frw fuifa wf f @ 92. wH i 0A, OB, OC 3 OD I
e Rm © @ wvern f foed 2 &
ZAOB = £COD = 100°, ZBOC = 82

3R = 78 8| Fr=fefiaa #ot
89. 3cm BN ¢ W ™ F T w2 @ ZAOD = 78 &l L

40 A D Frea-wrs FR W@ R 9N R e ]
& =1 g% =1 37 1. AOC 3R BoD Y@ %
(@ 11 cm 2. ZBOC 3R £AOD W9 (& £
() 229 cm S wuel # A we-E /A ad B/
ic) 33 afcm @
(d) 44 cm
(b) Fad 2
90. U% guad W dF S I, T d =@ o 13t 2

I, 30 VR B o 99 aew g9
= @ gAl B T WA 21 T a7 I
gd g A dien s 2 o ag s sr
I F AARF T Y T Fa 2| 498

d) 3@ 13nad2

T H R e 93. TH et § 8:30 ¥, T2 I g§ N fire
la) nd? &t g§ F1 For TR 87
b) wd?(2-3)? (a) . 8C°
o nd? (J3+1)? (b) 15
2
{c} TQ°
@ nd? (v3+2)*
12 (d) 60°
B-EFUA-O-PDW/52A 33 [P.T. Q.
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94. The complement angle of 80° is

(a) 18 radian
T
{b} >n radian
' 9
n
— radian
T3
(d} 2 radian
on

95. Consider the following statements :

1. If non-parallel sides of a
trapezium are equal, then it is
cyclic,

2. If the chord of a circle is equal
to its radius, then the angle
subtended by this chord at a
point in major segment is 30°.

Which of the above statements
is/are correct?

(a)
(b]
(c)
(d)

1 only
2 only
Both 1 and 2

Neither 1 nor 2

96. Out of two concentric circles, the
diameter of the outer circle is 26 cm
and the chord MN of length 24 cm
is tangent to the inner circle. The
radius of the inner circle is

fa) 5 cm
(b)
fcj 8 cm

(dj

6 cm

10 cm

B-EFUA-O-PDW/52A
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For the next four (4) items that follow :

Consider the following frequency
distribution :
Class Frequency
0-10 4
10-20 3
20-30 7
30-40 10
40-50 12
50-60 8
60-70 4
97. What is the mean of the distribution?

98.

99,

100.

(@) 37-2
(b) 381
€ 39.2
(d) 40-1

What is the median class?

20-30
3040
40-50
50-60

(a)
(b)
(c)
(d)
What is the
distribution?
(aj 37
(b} 38
fe) 39
(d) 40

median

of

the

What is the mode of the distribution?

38.33
40- 66
42.66
43-33

(a)
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94. 80° F ICF HivT 7T 7 AT IR AT TR (4) Feen & e

@) ?‘cﬁm{ frfafaa aroemar aver w fmm $ifs -
' i ITCERAT
) %%&m 0-10
10-20
(c) %iﬁqq 20-30
30-40 10
" _50-60 8
60-70 4

95, FafafEs suat o faam fifse

R e & - 97. UL & WItH w1 87

TSR g, @ 9% UHel 96 € fa) 372
2. 3R ot ga H <har s s & (bj 381
e 2, @ 4w F e fag w fc) 39.2
39 a1 g 3=t HIv 30° B fdj 40-1
I FE A Y I /A TE /7T 98. Wit ot @ 27
(@) FaA 1 faj 20-30
(b} 30-40
(b} Fad 2 b}
fe) 40-50
fc) 13K 2eH @ 50-60

(@ a1 AAH 2 99, Fuzq & Aifeden @ 37

faj 37
96. a1 Hhdl gdl A @, s@ gu W AW (b) 38
26 cm & AR 24 cm &= FT MN, ) 39
s e I N I caic R L ) 40
e @ g7 |
(@ 5cm 100. WZX F TEAH T 57
f .
b 6 cm fa) 38 33
(b) 40-66
(cj 8 cm () 42.66
(d} 10 cm fdj 43-33
B-EFUA-O-PDW/52A 35 [P.T. Q.
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Wa O ATIh! Tg THYUT YT Wierd &1 T HEl AN 79 a6 T @i

A, : B-EFUA-O-PDW Tl i A

HA T

e R R qUITeh : 100

10

. T8 lem gfes ® gy A Re moFhes ¥ amE sOw

. TEn WO FH & YA TR, AW T W gieaw f vIate 3|y w6 g w5 e oo, s

a1 T FAT B Hedl wyAw wifd A g afk v , 41 3@ wdt afiwor gide @ agd o)

. Fudl ear @ R OMR Iw-u=s A, 3hm e w, i v sitt wgm givaer sgwn A, B, C @

D =i, va 8 a T et 9 @ w3 a@ ok geag @ F Rl sefigan & 3
ff wwr f g /faumfy f R # s-ww e = T s

e fomm 21 gl gfem w ok o 3 o)

. 58 gl yfersr 1 100 swaw (we4) Re e @) uee wmn R o smsdt <Al 4 aa1 @)1 ws ym g

A g (3 fou g &1 30 A o g @ R |, 0 am swemE moafEa s e € afe s
T o 5 O @ A gepR w8 2, @ W o @ sifed w S aEl watan o | Uede TEim & fo
&aet Uk € I A B

TRl AT It gegEt e @ fau o S-ws WA sifEe w0 8 TWeTE § fRu o frdw 2w
vt T & % a9E

T gEat 5 oam wlem yfemm & fafim o@ml % OO[R SW-TFF W sfRd & IE R, SO GA
qo-vd % g1 Ofdd Aagenl b sgar 3w Ram ImevEs 0 2 3

Y 3 Tl SR Wl IW-TEE 9 W AR Al THE F U W kad I-uEd ftgE & w9
W A W e gfe | SR A st R

. FW % o oo qiem gfeaw & s A gom #

FEHE WR-TAt ¥ Iufganr g B o wew Tt & o gog B s

(1) 9 WeA & T 9N dicus Iw 2 Infean 3 uas v § o fiu e o em S # fee 9w 8
Frm fee o sl @ wm-faerd e & &0 4 @ S|

(i} afe F3 Iofiean = A afis T 2a1 B, @ 0 Ted Fag aen srem, 3afy fag o g A 8 v e ad
Al 2, fe oft 36w & forg Iwdegem € 30 @ @ @ve R smom)

(iii) R 3ufream g =K 7w T T Fen W &, aqwlq Iefiman g Ten R Ren s @, @ 39 9w F o
&g wug AF fear smumy

WE d% AT AR qliem giewt |e T Fal A a9 d% F @il

Note : English version of the instructions is printed on the front cover of this Booklet.
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